# **Block Of Apartments in Marsa**



Reference No: 240251083-152

Marsa, South



**€1,390,000** 

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **139** 

Bedrooms: 3

# **Block Of Apartments - For Sale - Marsa**

MARSA Wide fronted block of 6 plus airspace for another floor. These properties are are furnished and at the moment being rented out. Apartments consist of a large hallway, double bedrooms main with en suite, open plan kitchen/living/dining leading to a balcony and bathroom. Each apartments measures approximately 139sqm. TO BE SOLD AS A BLOCK OF6

#### **Features**

- ✓ Lift
- Ceramic Floor
- Gypsum Plastering
- Balcony

- ✓ Kitchen/Dinette
- En Suite
- Air Space

### Rooms

Kitchen/Living/Dining: 4.54 x 6.11 m (27.74 m2)

Double Bedroom : 4.69 x 4.8 m (22.51 m2)

Double Bedroom : 3.27 x 5.3 m (17.33 m2)

Double Bedroom : 2.84 x 4.53 m (12.87 m2)

Bathroom: 2.03 x 2.6 m (5.28 m2)

Shower Ensuite : 2.6 x 1.42 m (3.69 m2)

Hallway: 3.55 x 4.97 m (17.64 m2)

✓ Hallway: 11.36 x 1.28 m (14.54 m2)

### **Gallery**





**Reuben Abela** RE/MAX Advantage - Msida

M: 99423812

E: reubena@remax.com.mt

T: 21222123

#### RE/MAX Advantage - Msida

Regional Business Centre, Triq Achille Ferris, Msida, Malta